Accelerated Coordinate Algebra Name Rt I

Find the volume of each figure. Round your answers to the nearest hundredth, if necessary.
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Find the area of each figure. Round your answer to the nearest tenth.

7) A regular hexagon with a perimeter of 36 1n. A £ L 5 p
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8) A regular pentagon measuring 7 ft on each side.
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10) A rectangular prism has a volume of 24 zﬁ; che
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11) Find the volume of a cone that has a slant height of 100 ft and a radius 28 ff. Give your answer in
both terms of © and rounded to the nearest tenth.
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12) Find the radius of a cylinder that has a volume of 200m ¢m” and a height of 8cm.
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13) Find the height in centimeters of a square pyramid with a volume of 243 cm > and a base edge length
equal to the height.
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14) The radius and height of a cylinder are mutliplied by —3— Describe the effect on the volume.
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